EEMEHE EMETZYUEN T

BFE (5) OF6 0D 7DIHE (1)

HEEOMEN LHFEDHDGE

LEZKREEOEE A(M) =£8(M)
300=A<2,000 19,100
2,000=A<5,000 56,400
5,000=A< 10,000 90,000
10,000=A < 25,000 113,000
25000=A 141,000
HF (5) DFE6 0D T7OIHE (2)
HEEZOHEN 7 DIE (1) LSDSGE
& LEZKREEOEE A(M) =%a(M)
300=A<2,000 102,100
2,000=A<5,000 165,100
ETIVEW. 5,000=A< 10,000 216,000
10,000=A < 25,000 260,000
25000=A 305,000
300=A<2,000 257,100
2,000=A<5,000 366,700
BEANESF 5,000=A< 10,000 453,000
10,000=A< 25,000 535,000
25,000=A 610,000
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